2023 (1st-A) A
b ‘{:é‘s;‘(’:.:.PA’vallf;'lr_:(esgthv’rfl'QLASS) | |

S MTN\_(&B e ,{
OBJECTIVE w,«,,p C -_/15 i

12 = /J ',
<9

- .J!r' .
C;.w: mmHg 248 8k¢ 4‘o°‘cf m

(C) 1494 . (D) 3651 ‘

_ _-q—dﬂ/ﬂk-blﬁﬂﬂu’}" 10()cm3 u.‘.'/L/Tu:Jrf 0 (_2'.)’

T (C) %vim (D) % viv o
eSS (3)
() 0.25M. - (D) 0.5 M '

| oy 4 ﬁ,,xw&frrf“/w K2Cr207v. ' '-(4)‘ '

" 1’-(9') +7". oy (D) 14 o ¥ “ Lk ,
R gt vﬁ«...yu,,ﬂu,/l/ufg.gﬂ‘bw’ (5)
© Ca(OH)2 (D) H,S0, - L
Lo %—W..y‘:.dvfwuf tfu/c-u*wc»_,  =(.6') 

s (C)» Al'umlnlum (‘Q" (D)_ Selenium ﬁky % ‘

‘ L | “ ~edlz (L) amu L ‘,: (7)
© 166x10%q O 126x10%g .

- ‘ -+'JL)rKJ,;‘?L:-;ﬁ£3‘L" : .(~3)'

(@) 18g ©) 18kg . (D) 18 amu

- ofbitals. . ; LMY i P ®)
@) Two » ©Three &~ (D)Four

_ -urz_nw“ e (10)
(C) AII metalloids J% iU (D) All metals ;J#‘ra . -
PRV WS AR DR a8 R L)
® Govalcﬁt force o skl
(D) 1onic force WAET |
v( | | e s baskd B (12)
S CYCH, oo |
- zﬂ'dejic_*ﬁﬁr-)-Z‘ozé(jst-‘A)-‘%gDQO . (MULTAN)




o A 2023 (1stA) S
SSC PART-I (8th CLASS) o
| » M (N """)-»3 - ﬂ;‘ - tr,/ d/‘( .«"';
/ED: 1;,455..Hm_ g SUBJECTIVE .:wl.» - a5 =

e ' - S "
‘ -4—0»&%-44"»6’5’5 b»/’f»'f‘d‘f@mé“%” e,

part:nUmbar on 'answer book, as’ glven ln the_question paper '

G - SECTION-I d,w

any five parts. e 10=2x5 - 4‘.{4}...;:;4::7:&:_&/ -2A}lr'

Glv the 'scope of: Blochemlstry , | 02 : ) -athVd/Qll 0}

I nklsamlxture and-water. lsacompound ) el -4__zswg.,¢.§_,ﬁg_mw 08

g nbereason vl N 5 s ( : ‘ ' . ‘

its two defects of Rutherford's Model. . BT 0 TR

Forwhat purpose U-235 Isused? 2 Seted Lusug2ss )

Nrite names of elements present in st penod of Periodic table 02" (‘tlvgf“‘.bif(ﬂlﬁ¥£w\.ﬁ Lo _'(v) ,

estlon umnl

(V) *Whats Modern Perigdic Law? : 02. tet 0 Ssan . (VD)
o (vily:. ‘Write: the names “of groups present In'S' block of Perlodlc table. -02 .#télﬁ»}:ﬂrut._f s LHSs (i)
Vi) Whatls Shielding Effect? BT fe LIS (vill)

‘t any five parts y ‘ 10=2x6 ..;{{fvlliﬁméllc.é/ ..3/le

.02 Sl Sk ISl RATA )
141 gy A skt (i)
i+1 - - 9 S A1 S 7 ()
141 b ML W)
et - Lo SAIS W
1+1 -;{u}’}’lf Lty sl oy v

02 OIRT/ TS ST 2R )
K .02 ik w34y (i)
10=2x5 - -gEfeyprlimbiedS 420

-g’gJ/JJJ‘rldJu/iJ ()

. T PRSIV (i) 3
fo AR VA
”_Jﬁld/jbﬁwrﬁJﬂ&JﬁJ b )

- ,,of brlght sunllght

(vl) What ars Halogens? - Give any one example. S, ; el stk (vi) .
' (vll) ' How non metals are. essential for existence of Ilfe‘? . . lwduﬁqfd.[.&))‘“ ot (vii)
(Wil Write any two uses of Sodium. : e S (il
| | SECTION-Il s _ -
ttempt any two questlons. 18= 9x «2; . ;ég/".:/w&@ulnm.éf OT IS
_V_:.Deﬂne molecular and empirical formulas with examples. 5 -g;lv&u)&.;y/’lf)tlr)ﬁﬂﬁl 2l )rgl_L "(JD.S :

‘How-did the cathode reys dlscover? | 4 . W hS 1 ()
Jhat A L B -u/.»u,JJ'La.}ngTquw)’ Sy vf_.u:u;,(gr (3.8

Cge ECOp A A S ()
5 oA (T
1+3 émﬂf-z/mr - )

- 21-2023(1‘st-Al-70000 (MULTAN)

W2 ey U N (VR



)

| 2023.(1“-A)' : o v et s
 CARE ssc PART-L (9" Class) e / d’” |
. -'Y GROUP'II o : ( /»-..'A/ ) | /‘"(
by WED'JIS lVImutes | ._,/ "/\’TN——’Z:IS w18 =3
| 11‘2» 0 JECTIVEU"’/.A? - /J

/w.; 1 ;-b'L.ly&:u" / Jf u‘:...uy‘(,( d_f &4 f u:/b -(mﬂ w_.wf P g,tf u/)"d’ /. Z e <l L.f 2 f ummu;...{t
l‘out cholces for- each ob_;ectwe type question as A, B, .C and D. The choice which you think is correct,
in front of that question number, on bubble sheet. Usc marker or pen to fill the bubbles. Cuttingor
1ore bubbles will result in zero mark in that question. No credit will be awarded in case Do not-solve
questto on:.thls sheet of OBJECTIVE PAPER. : -

QNol ; 4 : -1 /dlr
(1) Polar covalent bond presem in: o : bl f),: o3
ey 0 ) @ H0 @,

Y (2) ‘ Tnple covalent bond contains electrons P ., ’ AL, 9 U daiks vl J,' Q).
v g s (A O .- (B) 06 () 08 (D) 02 '
A (3) oy The dens1t1es of gases are expressed in: by " _%wgﬁ@. L2364 (3)
A mgom ®) gem™ © gdm™ (D) kgdm™

; (4) - Omeis the heterogeneous mixture in the following: ce AL i s 4).
% f (A) Milk of Magnesia (' 17 & (B) Sodium chloride solution Jgavxrl#ik. '
T ' (C) Potassium chloride- solutlon u’)’b’ ’wb’(“ k(D) Sugar solution  FA¥S¥ °

s Concentratlon 1sarat10 of:. , 3 ¥ o u,: / ‘ (.5)"

iy )a Solutlon to so]vent wjrr,u}’ ' (B) Solvent to solutlon e dudy

Solute to solunon J}*c.uﬁr R ¢ ) Solutlon to solution /e i/
; The most common examp]e of corrosion is:. - . —e Ut G_V,Juj, S (6)

(A) Chermcal decay Jﬂ/}’f‘f ~ (B) Rusting of iron (1 37e |
:; : (C) Rustmg of Aluminium J_Lf("‘ e (D) Rustmg oftin iy

Spontaneous chemlcal reacmon takes place in: . ) T b q_.,.,,vuwf ,Qg‘){j i nlinsn (7

o :'(A) Eleotrolytlc cell 8 R (B) Nelson cell ¥ u”’ .
: \ (L).. Downs cell ‘K73 SO (D) Galvaniccell  Jfis”
| (8). ‘ Wluch one of the followmg is less malleable? e 2t /. ,fldufa.;li‘g}_swu (&)
.(A) Sodxum ﬂy‘ _(B) Iron u/! - (C) Gold S (D) Silver .+
(9) : The rnolar mass of H2S04 is: . | f ; T, ‘~‘T-;V”U" \Jr¥ H 250, (9)
Ay 98g ®) 9%8amu ./ (C) 98g - (D) 9.8 amu
- .-' ¢ O) ‘The formula umt of sodlum chloride consists of , | b P gt Ky (10)
e '(A) One Na* jon and two C£ ions - e TSy
L Ep ®). One Na* ion andone C¢™ion _ c//'ff""ub’-g“{'cﬁﬁ”"g' .
GR R ()] Two Na fons and one. o™ ibn , o T Lot T
5 o ol (D) Two Na* ions and two C¢" ions - : F o Tedrn
5 o Deutenum isusedto. make . Er ol BB/ "(11)

V,Soft Water )I,..Jv (B) Ha.rd Water /bl/l (C) Light water iz i (D) Heavy water Jufar
'T.ransmon elements are: | - W e ,ule,fu"”-J"'lu“/l} (12)

::(Aiv'"tAllgases fﬁ‘v - DRl (B) Allmeta Rl

wl.‘:“;-":,:'.'":-.(C)‘ All nOnmetalS )uuc(u (D)AJI metallo:ds ¥ u»,«? _
e 23(0bj)('£r$%¢?) 2023(1“ A)-70000 (M?ULTAN)




2023 (1%-A)

A

| $SC PART-I (9" Class) .

. CIi_EMISTR,_Y GROUP-1 » Cpringed s 64
TIME ALLOWED: 1.45 Hours & 145 = =3
MAXIMUM MARKS: 48 SUBJECTIVE 1.~ B =AY
NOTE: Write same question number and its MTN -9-93 S2En At dlrmu'gé(qm.;:,b}

paﬂ:é number on answer book, as given in the question paper. .

2. -Attémp‘t any five parts. 10=2X5 -

() How» would you define Organic Chemistry with one eiﬁmplé?

(i) D’ifferentiate between atomic number and atomic mass.

(i) -

Complete the equation.
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’ (yiv).' Define Ionization energy and write its unit.

"ngscribe Mendeleev’s Periodic Law.
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3. Attempt any five parts. 10=2 X5
(i) - How does hydrogen bonding affect physical
~ properties of molecules?
" (i) What is meant by triple covalent bond?
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(iv)  What is meant by amorphous solid? Give an example.

. Why does a Covalent bond become Polar?
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4. ~Attempt any five parts. 10=2 X5
(i) . Define Electrolytés and Non-electrolytes.

. (i) " Write the difference between Anode and Cathode.

(iii) Define Alloy. Give one example.
© (iv)  Write redox reactions involved in electrolytic.refining
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< (v) | Write two uses of Magnesium.
(vi) - Write two chemical properties of non-metals.

(vii)  How does Oxygen react with elements of Group-I metals?

~(viil) - Why does Bromine exist in liquid state in Halogen group?
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NOTE: . Attempt any two questions.
"5.(A) How does write a chemical formula?
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Write down four properties of canal rays.

‘Define covalent compounds and write

‘ their four properties.

() How does boiling point of liqisid -

depend upon the nature of liquid and inter
molecular forces.

2+2

7.(A) " Discuss the redox reaction 5 :
. taking place in fhe rusting of iron in detail.
'(B)- Define Molarity and write its ‘ 4

formula to prepare molar solution.
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